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535 |f2 22 i AR A S Pl T4 15 6 6 6 40.00% 233.25 3
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622 |EYRETIEE R O (M A4 117 5 5 5 4.27% 149.00 15
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627 |[EYfRIBE A E % 48 14 5 5 5 35.71% 109.00 3
628 | B m AR IUr BHFEBEMEE) 8 2 2 2 25.00% 141.00

HS5H-H8H




11282 FEELIHBE [(F2HRME ] FIER—BXR

_ EEnpi
fgg ENCiNl ARl WY | BERE | BEE | #A8 | #IER FREVER REFINSE | BIRAR
5
—i% |EE A% |TER| AR TR — A% (R & | ER —M TE B, —m| TR | R |ER
629 | B mAI R ZE T OHE(EEBERMEY) 5 2 2 1 fr%E1 20.00% 140.25
630 |Bm AR T I REABA(FEEmMNT) 64 11 11 12 iaz k! 18.75% 204.25 4
631 | B AR ER THEEBERIRE) 1 1 1 0 fr%E1 0.00% 140.00
632 | B m AR P RB(EERBES) 48 6 6 7 AL 14.58% 213.25 2
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